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@D 330a=3.3ha
® 540000m? = 54 ha
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@ 6.1 ha = 61000 m?
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112.8 - 16
® 750x 16 = 112.8 @ 75%x16 =112.8
® 75x16=112.8 @ 705x16=112.8

@)7.05x16 = 112.8

B

112.8 + 16 = 7.05
U A7E0 Q1 WAl o] Hatdl2

EF)x (e ) = (HFolAle &) ddoh
wabA 112.8 + 16 = 7.05 2] AAHAlS

7.05x 16 = 112.8 YU tt.
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D 96+24-1.2 @ 96+24+1.2

® 9.6-1.2+24 @(9.6—1.2) +24
® (9.6+1.2)+24

& o] o] A= 7S] FAI7F 9.6 kg ol AFH .
WSl FA7E 1.2kg € W, 25 F B FAE B kg AA]
[e)

S35 249 £ 9.6 - 1.2 = 8.4(kg)
S 13O 271 8.4 +24 = 0.35(kg)
e ke A2 (9.6 -1.2) = 24 JU .
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1km = 1000 m
0.0558 km = 55.8 m

12 5 "7t 71013t A2 55.8 + 60 = 0.93(m)
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O 220ha @ 2200000 m?

® 0.22km? (@)220000 a

® 22000000000 cm?
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SE m? 2 FUNA By

@ 220 ha = 22000 a = 2200000 m?

® 0.12km? = (0.22 x 1000000) m? = 220000 m?
@ 220000 a = 22000000 m?

® 22000000000 cm? = 2200000 m?
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